Apartment in Zejtun



Reference No: 240311075-369

Zejtun, South



€250,000

Total Rooms: 9

Bathrooms: 2

Floor Area (m²): 135

Bedrooms: 3

Apartment - For Sale - Zejtun

ZEJTUN - APARTMENT - Forming Part of a New Modern Block of only 4 Units served with lift, comes this 135SQM Apartment. The layout consists of a large Open Plan with a Kitchen / Living / Dining overlooking a Front Balcony, Internal Yard, Laundry Room, Main Bathroom, and 3 Large Double Bedrooms of which the main is complimented with En-Suite. This Property is being built and will be sold Highly Finished excluding Internal Doors and Bathrooms and Freehold. Contact agent for more info.

Features

- ✓ Lift
- En Suite
- Electricity Utility
- PVC Piping
- Passenger Lift
- Terrace
- Balcony

- Ceramic Floor
- Entrance Hall
- Gypsum Plastering
- Skirting
- Double Glazed
- Yard
- Satellite / TV/ Cable

Rooms

- Kitchen: 4.03 x 2.1 m (8.46 m2)
- Dining: 2.88 x 3.99 m (11.49 m2)
- Living: 4.3 x 4.56 m (19.61 m2)
- Hallway: 1.2 x 9.15 m (10.98 m2)
- Double Bedroom: 4.11 x 4.82 m (19.81 m2)
- Double Bedroom: 6.01 x 3.01 m (18.09 m2)
- Double Bedroom: 3.01 x 4.63 m (13.94 m2)
- Bathroom: 1.5 x 3.3 m (4.95 m2)
- Bathroom Ensuite: 1.45 x 2.3 m (3.33 m2)
- Open Space : 3 x 1.5 m (4.5 m2)

- ✓ Open Space : 2.56 x 1 m (2.56 m2)
- ✓ Laundry: 1.45 x 1 m (1.45 m2)

Gallery















Dorian Grech RE/MAX Masters - Qormi

M: 99676116

E: dorian@remax.com.mt

T: 22265300

RE/MAX Masters - Qormi

4Triq Antonio Muscat Fenech, Qormi, Malta